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n3Aicaziropav ed rolac lE .2 .auga ed saluc©Alom sal ertne oneg3Ardih ed secalne rop sadanoicroporp nos lamron arutarepmet a odiugAl nu auga le neneitnam euq savisehoc sazreuf sal :n3AicacilpxE B :n3AicnetA atseupseR etnelavoc ecalne ed atsiV )D n3Aiccarta ed sazreuF slaaW red naV )c auga ed saluc©Alom sal ertne oneg3Ardih ed secalne )b
setnelavoc on senoiccaretnl )a ?etneibma arutarepmet a odiugAl nu aes auga le euq ecah setneiugis sol ed 1jAuC¢A .1 .n3Aicaunitnoc a odnacilpa SQCM yrtsimehcoiB ed FDP le ragracsed edeup n©AibmaT .n3Aiccele ut ed olutApac reiuqlauc a ratlas sedeuP as a reagent. 1. What of the following is an iminenated? a) serine b) Alanine c) glycine d)
Proline view Answer ATTENTION: D Explanation: Because it contains the & ¢ 4,— - ¢ = nh & ¢ 4,— - oh, oh, oh, oh, oh, oh, oh, oh, oh, oh, ##### H#H#HHHBHHH BB HHHBHHHBBHHHBBHH BB HHBBHHBBBHHBBHHBBBHHB BB HHBBHH B BB HHB BB H BB BHHB BB HHBBHH B BB HH BB HH AR B H#####H#EHT FO HCIHW hcihw .6 .NGETNA eht
rof ytiniffa rehgih A SAH Ydobitna detraenta eht )ii .etar retaerg by decudorp era seidobitna :ra esnopser yraces yraces eht sutnoce ytiniffa retaerg who SAH decudorp ydobitna )d pleh-t tuohtiw detareeng ydobitna )c decudors Seiditna ynam )b tsnopser enmmiraces eht fos z enummi tsrif eht ot derapmoc nehw .5 .Alobrepyh sebrcsed hcihw )z+ (/x =
mmmmmmmmmmm s s fo na )05p+ 2op(/)2op()2op(=a‘uge eht weivs raenil. )d cilobaraP )c cilobrepyH )b epols evitisop a htiw raeniL )a sa debircsed eb tseb nac nibolgoym ni deipucco setis gnidnib fo noitcarf eht dna noitartnecnoc negyxo neewteb pihsnoitaler ehT .4 .smsinahcem gnidlof tcerroc etatilicaf ot redro ni seditpepylop dedlof
yllaitrap htiw Tcaretni taht snie torp era snorepahc raluceloM :noitanalpxE d :rewsnArewsnA weiV ylreporp dlofer ot meht dewolla dna ylreporpmi dedlof evah taht snietorp seucser tl )d ylreporpmi dedlof evah taht snietorp sedarged tI )c ylreporp dedlof evah taht snietorp sedarged tI )b dlof dluohs snietorp eht woh rof etalpmet a sedivorp of )a ?
Nenitorp yorepahc fo noitcnuf that si gniwolf eht Fo hcihw .3 .Noitcrutsnoc Negalloc rof laitnesse he taht dica onima lufitnellp that he ,tluser that .enicylg a sdica sdicat stima on sdicam sedit stimer stima on negalloc eht fo hcaE :noitanalpxE ¢ :rewsnArewsnA weiV enireS )d enicylG )c eninalA )b nahpotpyrT )a ?negalloc ni dnuof yltnadnuba si
gniwollof eht fo hcihW .2 .seudiser enicylG dna enilorP fo ecneserp eht yb decneulfni si ytilibats sAA ac¢kileh-A£Z na :noanalpxe b :rewsnarewsna weiv seudser eerht decops s fire s fire r Neewteb NoitCaretni )d noisluper citatsortser enicylg dna ecnerrucco )dala ecnerrucco ) Is it an invagination of the muscular sarcolemma? a) t tubulas b)
Sarcoplasmatica reticulas c) Microtubulos d) Cisterne See Responsible: An explanation: the invaginations of the sarcolemma of the muscle cells are known as transverse tubes. The following table contains a complete set of questions and responses of mismrople selection on the secondary and tertiary protein structures, oxygen union proteins, folding
of protein, immune system, actin and molecular motors. 1. When the speed of the enzymatic activity is brought against the concentration of the substrate, how of the following is obtained? a) Straight line with a negative slope b) Straight line with positive slope c) Parabola d) Hyperbic curve see Responsible: D Explanation: The formation rate of a
complex of enzymatic substrate determines the reaction rate at low substrate concentrations. 2. What of the following catalyze the reversible degradation of 2 phosphoglycerate to phosphoenolpyruvate? a) Trypsin b) Enolase c) Chymotrypsin d) Hexokinase See Responsible: B Explanation: Enolase is a catalytic enzyme that catalyzes the reversible
conversion of 2-phosphoglycerate to phosphoenolpyruvate. 3. What of the following enzyme catalyzes a reaction that introduces reduced nitrégen cellular metabolism? a) Dinitrogenase bacterial redoubt b) Phosphatese c) Bacterial glutamine synthase d) Bacterial dyitrogena oxidase see Responsible: C Explanation: glucotamate synthesis in bacteria is
one of the most known sophisticated regulatory enzymes. It catalyzes a reaction in which reduced nitrégen is introduced into cell metabolism. 4. What of the following is an example of epimers? a) Glucose & quot; Ribose c) galactose & quot; MANNOSE D) Glucose & quot; Galactos see Responsible: D Explanation: although glucose and galactose have
the same sodalucniv sodalucniv njAtse asoculg ed soudiser sol ,etneiugis ol ed ©Auq nE .5 .ereifid 4C aluc©Alom al ne HO4 opurg led n3Aiccerid al ,acimAuq A2A1 &arr; 4 glycosidic bonds? a) Starch b) Cellulose c) Glycogen d) Amylose View AnswerAnswer: b Explanation: In contrast to the 1 &arr; 4 links of amylose, starch, and glycogen, the glucose
residues in cellulose are linked by 1 &arr; 4 glycosidic bonds. 6. Which of the following are important for white blood cell recognition? a) Glycoproteins b) Glycosaminoglycans c) Glycolipids d) Proteoglycans View AnswerAnswer: a Explanation: Especially in mammals glycoproteins are essential for white blood cell recognition. The following table
contains a complete set of multiple-choice questions and answers on enzyme kinetics, enzyme actions examples, monosaccharides, proteoglycans, glycoproteins, polysaccharides and disaccharides. 1. Which of the following is true about phosphodiester linkage? a) 3¢AAA-phosphate group of one nucleotide unit is joined to the 5¢AAA-hydroxyl group of
the next nucleotide b) 3¢AAA-phosphate group of one nucleotide unit is joined to the 3¢AAA-hydroxyl group of the next nucleotide c) 5¢AAA-phosphate group of one nucleotide unit is joined to the 3¢AAA-hydroxyl group of the next nucleotide d) 5¢AAA-phosphate group of one nucleotide unit is joined to the 5¢AAA-hydroxyl group of the next nucleotide

View AnswerAnswer: ¢ Explanation: A 5¢AAA-phosphate group of one nucleotide unit is joined to the 3¢AAA-hydroxyl group of the next nucleotide. 2. Arrangement of nucleotides in DNA can be seen using which of the following instruments? a) Electron microscope b) Light microscope c) X-Ray crystallography d) Ultracentrifuge View AnswerAnswer: c
Explanation: It¢AAAs a scientific method for figuring out how atoms in a crystalline solid are arranged in three dimensions. 3. Which of the following involves carrying genetic information from DNA for protein synthesis? a) sn-RNA b) r-RNA c) m-RNA d) t-RNA View AnswerAnswer: ¢ Explanation: Messenger RNA carries genetic information from DNA
for protein synthesis. 4. Which of the Is it true about TM? a) The greater the content of the base pairs of g a € It can be called as renaturation temperature d) greater will be the content of the base pairs of G & € ° Blue, the higher the view TM response response: D Explanation: Tm is the fusing temperature or the denaturation temperature . 5. What of
the following is true about the Ha © Lice Z-DNA? a) It has less bases of bases per shift than b-dna b) tends to be at the end of 3 genes c) It has alternate GC sequences d) It is a permanent conformation of the DNA view response: an explanation explanation: it is a temporary confirmation of DNA and has more bases of bases per shift that B-DNA. The
following table contains a complete set of questions and answers of mostleciple about the structure and the chemical of the nucleic Emico. 1. What of the following implies carrying the geniical information of DNA for protein synthesis? A) RNA b) m-arn c) SN-RNA d) View of T-Arn Answer ATTENTION: B Explanation: the messenger RNA carries the
genic information of the DNA for the synthesis of protein. 2. What of the following temperatures better adapt to growth and multiplication of transformed cells? A) 25 ° Cb) 26 ° C c) 37 ° C d) 30 ° C view view: ¢ Explanation: (37-43) ° C is the preferred temperature range for growth and multiplication of transformed lines. 3. What of the following
enzymes is used in PCR? a) Ecorii b) Ecori ¢) Taq DNA polymerase d) HRP Vista Responsewer: C Explanation: HRP is an enzyme used in Elisa tests. The restriction enzymes are Ecori and Ecorii. As a result, only a polymerase DNA is able to make multiple copies of the DNA sequence. 4. The recombinant DNA construction implies a) DNA
of with an endonuclease of restriction and join with polymerase b) split and join DNA with endonuclease of restriction c) DNA of escisién sol ne atcerid acid3Acilg n3Aixenoc anu neneit larbetrev anmuloc ed lorecilg le y azebac ed opurg led rac?Aza IE :n3AicacilpxE c :atseupseRatseupseR reV sodipAlofsoF )d sdipilocylG )c sdipilognihpS )b ret©A ed
sodipAL )a ?larbetrev anmuloc ed lorecilg le y lazebac opurg led rac®Aza le ertne atcerid acid3Acilg n3Aixenoc anu eneit anarbmem ed sodipAl setneiugis sol ed 1jAuC¢A .2 .acifAcepse asarg anu ed omarg nu ne sodalczem y serbil sosarg sodicjA sol razilartuen arap oirasecen HOK ed somargilim ed orem®An le se n3Aicacifinopas ed orem®An 1E
:n3AicacilpxE c :atseupseRatseupseR reV odoy ed orem?AN )d rebmun noitacifinopaS )c rebmun dicA )b orem2An eksneloP )a amall es adad asarg anu ed omarg nu ne odanibmoc y erbil osarg odicjA le razilartuen arap sodireuger HOK ed somargilim ed orem@An IE .1 .samoneg ed senoicaretla y ,semosaetorp a samoneg ed ,samoneg a seneg
,NDA ed n3Aicanolc erbos elpitl?’Am n3Aicceles ed satseupser y satnugerp ed otelpmoc otnujnoc nu eneitnoc albat etneiugis aL .suriv nis y satelpmoc ,sacserf satnalp ricudorp arap odauceda oidem le ne avitluc y egocer es adatcefni atnalp al ed lacipa metsirem IE :n3AicacilpxE b :atseupseRatseupseR sedademrefne a setnetsiser satnalP )d stnalp 11aT )c
suriv ed serbil satnalP )b sadirbAh satnalP )a ?sotcepsa setneiugis sol ed ljAuc rallorrased a aduya metsireM led arutluc aL .6 .adil®As eicifrepus anu a sodagep NDA ed sehcrap so+Aeuqep ed senoicceloc nos NDA ed soyarraorcim sol. .arenam anugla ed sodatcenoc njAtse euq eicepse amsim al ed seneg nos sgolarap soL .lanoicnuf olucnAv nu y aralc
aicneuces anu neneit euq seicepse sairav ed seneg nos sgolotro soL :n3AicacilpxE c :atseupseRatseupseR reV golaraP )d ynetnyS )c golotrO )b yarraorciM )a ?adicerem neg nedro animoned es setneiugis sal ed 1jAuC¢A .5 .NDA ed asagil rop n3Aicanolc ed rotcev la enu es etnemroiretsop euq ,odimsalp rotcev le natroc n3Aiccirtser ed samizne saL
:n3AicacilpxE c :atseupseRatseupseR reV asaelcunodne noc esrinu y 3. Which of the following hormones is responsible for the activation of phospholipase C? a) Adrenaline b) Serotonin c) Cortisol d) Vasopressin See Answer Answer: d Explanation: Explanation:Activates a particular phospholipase when
interacting plasmal membrane receptors in the epithelial cages of the renal accumulator. 4. What of the following membranes contains low cholesterol and high cardiolipin? a) Cellular wall b) Internal mitochondrial membrane of the hepatocyte c) Honeyin varela d) Plasmal membrane view Answer: b Explanation: low cholesterol and high cardiolipin
are observed in the internal mitochondrial membrane. Cardiolipin levels are low and cholesterol levels are high in the plasmatic membrane. 5. What of the following is a line containing hill? A) phosphatidyletanolamine b) phosphatidylserine c) Sphingomyeline d) View of phosphatidylglycerol Attesnds: C Explanation: the ligs containing hill in the
external leaf include phosphatidylcholine and sphingomyeline. 6. What of the following proteins does not work in the cellular-lula interaction? a) Cadherina b) cytochrome c c) Integrin d) View of N-Cam Answer ATTENTION: b Explanation: Integral Integral of protein, Cadherina, N-Cam and selectin in the cellular interaction-cup. The following table
contains a complete set of questions and answers of ma®ltiple on storage and structural lipids, ligs of borders, membrane architecture, dynamic membrane and transport of solutes. 1. How many types of signal transducers are there? A) 6 b) 7 c) 8 d) 4 Response view: A Explanation: The six types of signal transducers are iginal channels, receptor
enzymes, membrane proteins that work through G, G of G, Nuclear proteins, membrane proteins and adhesion receptors. 2. What of the following is a second intracellular message? a) glycine b) glutamate c) acetylcholine d) IP3 view ATTENTION: D Explanation: Inositol triphosphate, in combination with Diacilgerol, it is a secondary messenger in the
cellular system and of ligos. 3. What of the following is not correct about phosphorylation by IRS in serine residues? a) Objective fabrics do not respond to Insulin b) Increase insulin levels c) It is an inhibitory phosphorylation d) It is molecular mechanism for insulin resistance view Response response: An explanation: insulin resistance is a disease in
which objective tissues do not respond to circulating insulin. Inhibitory serine phosphorylation is a biological mechanism underlying insulin resistance. 4. What of the following catalyze the PIP2 cut in 2 moles of IP3 and Diacilglycerol in the cellular session? a) phosphodiesterase c b) fosfoquinase ¢ c) phospholipase ¢ d) Lipocinase view ATIVADOR
ANSWER: C Explanation: PLC, or phospholipase, binds to PIP2 and break it in diacilglycerol and IP3. 5. What of the following phosphorylated tyrosins directly to start an enzyme cascade of the kinase protece? a) Treonine receptor kinase b) Serine receptor kinase c) Receiver Tyrosine kinase d) Guanilil Receiver Cyclasas Response View: C
Explanation: Start an enzymal cascade of QUINASA Proteide, only Tyrosine receptor kinase direct kinase directly pyrosine phosphorylates. 6. The 2 components system promotes bacterial chemotaxis when attacked the autophosphorality of which receptor to phosphorylation of the respective regulatory protelate? a) Guanylyl cyclasa b) its kinase c)
adenylil cyclase d) All the view mentioned responseSWER: b Explanation: By connecting the autofosphorylation of its kinase with phosphorylation of the relevant regulatory protece, the two component system causes bacterial chemiotaxis. 7. When the visual stomach reaches the receptors in the eye retina, the first process that implies the absorption
of physical energy by the receptors is it? a) coding b) Adaptation c) Transduction d) Reception view Answer ATTENTION: D Explanation: When a visual signal reaches the receptors in the eye retina, the initial phase involved in the absorption of Physics by receptors is called reception. 8. What of the following drugs is used to finish early pregnancies?
a) Vicetaz es sednarg saluc©Alom sal euq le ne aAgrene ed adilas ed osecorp nu se omsilobatac le euq sartneim ,sednarg sjAm saluc©Alom ne necerc saluc©Alom sa+Aeuqep sal euq le ne ocit©Agrene omusnoc ed osecorp nu se omsilobana 1E :n3AicacilpxE c :atseupseRatseupseR reV orofs3Af ed n3AixenoC )d PTA )c PDA )b PSA )a ed
amrof ne sodalucniv etnemacimAuq njAtse omsilobatac le y omsilobana IE .2 .socig®Aloib sametsis sol ne senoisrevnoc sal y sacit©Agrene senoicaler sal ed oidutse le se acit©Agreneoib aL :n3AicacilpxE d :atseupseRatseupseR reV scitegreneoiB )d aAgoloncetoiB )c acisAfoiB )b acimAuqoiB )a ?socig3Aloib sametsis sol ne sacit©Agrene senoisrevnoc y
senoicaler sal ed oidutse le se setneiugis sol ed 1jAuC¢A .1 .ralulec olcic led n3Aicaluger y n3Aicpircsnart ,senegocno ,satnalp ed n3Aicazila+Aes ,oimadna ed satnelavitlum sanAetorp ,sanAetorp-g ,sarotpecer samizne ,sodarrec noi ed selanac ,selairosnes y sela+Aes ed n3Aiccudsnart al erbos elpitl2Am n3Aicceles ed satseupser y satnugerp ed otelpmoc
otnujnoc nu eneitnoc albat etneiugis aL .selanoicida seromut ne atluser euq ol ,opreuc led setrap sarto a lanigiro oitis us ed sangilam salul©Ac ed n3Aicagaporp al se sisatsiAtem aL :n3AicacilpxE d :atseupseRatseupseR reV sisatsateM )d sisotpopA )c sisedepaiD )b n3AicarefilorP )a amall es soiradnuces seromut amrof euq opreuc led etrap
arto a negiro ed oitis le edsed sasorecnac salul©Ac ed n3Aicargim al .01 .sisotim al ne erruco on esafatem ed acalp al ne sosogolomoh samosomorc ed otneimajerapme 1E :n3Aicacilpxe anu :atseupseRatseupseR reV ralulec n3Aisivid al ed oicini led setna NDA led n3AicacilpeR )d erohcotenik a ollisuh ed sarbif ed n*AicnujdA )c asofana al ne sonamreh
soditasomorc ed n3AicarapeS )b esafatem acalp al ne sosogolomoh samosomorc ed n3AicanibmoC )a ?sisotim al ne on orep sisoiem al ne erruco setneiugis sol ed 1jAuC¢A .9 .setebaid al raruc arap sotnemacidem sol nos azotciv y afoculG ,animrofteM :n3AicacilpxE c :atseupseRatseupseR In més small. 3. What of the following is not a flavoproteana? A)
NADH DEL C is not a flavoproteana. FLAVOPROTEAS participate in oxidation reactions in which electrons are lost but cytocrome c receives them. 4. Each time the ATP supply of the cup is exhausted, how of the following enzyme activity is increased? a) Pyruvate kinase b) phhosphofrutokinase-1 c) Hexokinase d) Glucokinase see resumptions: b
Explanation: phhosphofructokinase-1 is a regulatory enzyme that plays a key role in the control of glucdlisis. When the ATP supply of the cup is reduced, its activity increases. 5. What the following enzyme is responsible for the glucose conversion 1-glucose phosphate 6-phosphate? a) Epimerase b) phhosphoglucomutase c) Glycogen Phosphorylase d)
Isomerase Viewranswer: b Explanation: phosphoglucomutase is an enzyme that transforms glucose 1-phosphate into glucose 6-phosphate, which can be used in glucose. 6. What is the main factor (s) that determines whether glucose is oxidized by aerombic or anaerine glycelisis? a) presence of high amp b) NADH and the ATP/adp relationship c) ca+2
d) fadh2 see response: b explanation: the key determinants of whether glucose is metabolized by aerombic or anaerine glycolisis are NADH and relationship ATP/ADP. 7. What of the following is not an important precursor of glucose in animals? a) pyruvate b) Glucose 6-phosphate c) lactate d) glycerol viewranswer: b explanation: the molecal of three
carbon, including lactate, pyruvate and glycerol, so as some aminoine, are significant precursors of glucose in glucose in animals. 8. What of the following enzymes act in the Pentosa phosphate life? a) Dehydrogenase of 6 phosphogluconate b) Cinase pyruvate c) Glycogen Phosphorylase d) Aldolase Viewranswer: A Explanation: 6-
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yrotaluger a ot esnopser ni yawhtap a ssorca Wolf by Egnahc Denimreted yllacipme eht rof noisserpxe she is Tneiciffeoc Eht .yawhtap Emyzne-itlut ssorca Excretion and degradation of amino acids. 1. Complex 4 is also known as a) cytochrome oxidase B) Nadh dehydrogenase C) succinato dehydrogenase D) cytochrome BC1 Complex View
Atavera Response: An explanation: the complex 1 is called NADH dehydrogenase. The 3 complex is called the BC1 cytochrome complex. Complex 2 is called dehydrogenase succinct. 2. Which of the following is the prosthetic group of NADH dehydrogenasa? A) FAD B) FMN C) NADH D) NADPH View Response: B Explanation: NADH attaches to
complex I and transfers two electrons to the group of flavina mononucleotide (FMN) of the enzyme, which results in FMNH?2. 3. Long-chain fatty acids are oxidized step by step into a unit of a carbon from (a) Alifatic end B) End carboxyl C) A and B D) None of the above views AnswerAswer: An explanation: long-chain fatty acids are
oxidated step in the unit of a carbon from Carboxyl End. 4. What does the increase in levels of hydrogen ions in the membrane space of mitochondria affect? a) Decreased levels of chemosis b) Increased levels of water in the space between membrane (c) Increase production of ATP d) Reduced levels of oxidative phosphorylation View Answer: C
Explanation: When the levels of hydrogen ions in the intermembrane gap of the increase of mitochondria, ATP Generation increases. 5. How many mitochondrial proteins are encoded in nuclear genes and import to mitochondria after synthesis? A) 300 b) 500 C) 700 D) 900 VIEW REPUBLIC ENTREGA: D Explanation: About 900 different mitochondrial
proteins are encoded in nuclear genes and then synthesized in mitochondria. 6. What is the effect of the excessive rate of apoptosis? A) AIDS B) Fever C) Atrophy D) Sneezing View Answer Attention: C Explanation: Excessive apoptosis causeswhile apoptosis insufficiently promotes uncontrolled cell proliferation. 7. Which of the following is the source
of electrons in photosynthesis? a) nadh b) water c) c)(d) CO2 See ResponseAnswer: b Explanation: In photosynthesis, water is the source of electrons. To decrease the chlorophyll molecules, these electrons are necessary. 8. Which of the following is the correct sequence for the movement of electrons during the reactions dependent on the light of the
plants? a) P680, water, P700, NADP+ b) Water, P680, P700, NADP+ c) P700, P680, NADP+, water d) Water, P700, NADP+, P680 See AnswerResponse: First electrons The following table contains a complete set of multiple-choice questions and answers on electronic transfer reactions, ap synthesis, mitochondrial genes, oxidative stress,
photophosphorylation characteristics, light electron flow and photophosphorylation ap synthesis. 1. Which of the following acyl and malonyl groups? a) Acetyl co-A ACP transacetillase b) Malonyl co-A ACP transferase c) B-ketoacyl ACP synthase d) Acyl carrier protein View AnswerAnswer: ¢ Explanation: Malonyl co-A ACP transferase transfers the co-A
malonyl group to ACP. The acyl-bearing protein carries acil groups in the binding of tio-ester. Acetyl co-A ACP transacetillase transfer acyl group from co-A to cys residue of KS. 2. Which of the following types of drugs reduces fatty acid levels by circulating in the blood? a) Amphetamines b) Thiazolidinediones c) Synthetic Cannabinoids d) Cathinones
See Answer Answer: B Explanation: Tiazolidineds reduce fatty acid levels by circulating in the blood and increase insulin sensitivity. 3. Which of the following is involved in the bio-signalization pathway that includes the rotation of the
membrane and exocytosis? a) Phosphatidyl glycerol b) Phosphatidylinositol c) Phosphatidyl glycerol and myoinositol d) Myoinositol View AnswerAnswer: b om3AC om3AC .4 .sisoticoxe al y anarbmem ed n3Aicator al eyulcni euq gnilangis-oib aAv al ne odarculovni jAtse lotisonilyditahpsohP carbons are present in HMG co-A? a) 12 b) 8 ¢) 4 d) 6 View
AnswerAnswer: d Explanation: Two co-A acetyl molecules condense to form co-A acetoacetyl, which condenses with the third co-A acetyl molecule to produce a six-carbon compound HMG co-A. 5. Which of the following catalyses reactions that incorporate nitrogen derived from glutamine? a) Glutamine synthase b) Glutamine amidotransferase c)
Adenylyltransferase d) Glutamate synthase View AnswerResponse: b Explanation: Glutamine amidotransferase catalys reactions that incorporate nitrogen derived from glutamine. 6. Which of the following gives rise to methionine, threonine and lysine? a) Glutamate b) Serine c) Pyruvate d) Aspartate View AnswerResponse: d Explanation: The
pyruvate gives rise to the pod and isoleucin. Glutamate gives rise to glutamine, arginine and proline. Serine gives rise to glycine and cysteine. 7. Which of the following gives rise to y-amino butyrate? a) Pyruvate decarboxylation b) Glutamine synthase c) Glutamate synthase d) Glutamate decarboxylation View AnswerResponse: d Explanation:
Glutamate decarboxylation results in y-amino butyrate. 8. Which of the following measures is degraded to the semialdehyde of methylmalonile? a) Leucine b) Thymine c) Glutamine d) Tyrosine View AnswerResponse: b Explanation: The thymine is degraded to the semialdehyde of methylmalonile. The following table contains a complete set of multiple-
choice questions and responses on fatty acid biosynthesis, triacilglycerols, membrane phospholipids, colesterol and amino acids, nitrogen metabolism, molecules and nucleotide degradation. 1. Which of the following has the lowest level of the chromosome organization? a) 30nm b) Nucleosome c) Solenoid d) None of these View AnswerResponse: b
Explanation: It is the fundamental component of a chromosomal package, which consists of a segment of DNA wrappedof a stone core. 2. What kind of supercoiling takes the form of stretched coils on the right hand? a) a)Supercoiling b) Supercoiling c) Negative Supercoiling d) Solenoidal Supercoiling See Responsible: C Explanation: Solenoidal
Supercoiling (negative) is represented by narrow left -handed sprains around an imaginary structure similar to the tube, while the lectonemic supercoiling is represented by coils of coils of coils right hand. 3. What of the following functions played a substantial role in the linking of the chromatdos brothers immediately after replication? a)
Topoisomera b) Histonas c) Condensins d) Cohesins see Responsible: D Explanation: Cohesins are important for the chromatized binding sister together after replication and maintained united as the chromosomes are condensed in the metaphase. 4. What of the following accounts do you have a string structure? a) Nucleosomes b) Chromosomes c)
Heterochromotine d) Chromatin See Responsible: An explanation: Nucleosomes are formed when DNA is wrapped around the stone proteins, as accounts in a thread. 5. What of the following histones shows more similarity of sequence between eukaryotic species? a) H2A b) h3 c) hl d) H2B viewswer response: b Explanation: in all eukaryotes, the
aminoase sequences of H3 and H4 are substantially idnamic. The following table contains a complete set of questions and responses of ma®ltiple selections on chromosomic elements, Supercoiling and Chromosomes DNA structure. 1. What of the following enzymes eliminates superciling in DNA replication ahead of the replication fork? a)
Topoisomerases b) premiums c) Helicians d) DNA polymeras vowranswer: A Explanation: Strand Separation Causes Topological Stress In The Helical Dna Structure, Which Topoisomera Can relief. 2. What of the following mechanisms will the uracil eliminate and incorporate the correct basis? a) Repair of the excision of the euQ euQ .3 .esab n3Aisicse
al ed n3Aicaraper al ed s©Avart a amoneg led nanimile es setnanoisrotsid on y sa+Aeuqep esab ed senoisel sal. :n3AicacilpxE c :atseupseRatseupseR reV ogsum ed n3AicarapeR )d esab al ed n3Aisicse al ed n3AicarapeR )c atcerid n3AicarapeR )b nixot airehthpiD )d edimixeholcyC )c locinehpmarolhC )b niciR )a ?satoiracue samosobir ed S06 dadinubus
al avitcani setneiugis sol ed 1jAuC¢A .8 .adnuges al y aremirp al euq acifAcepse sonem se euqrop ralicso a aredisnoc es n3Adoc adac ne n3Aicisop arecret aL :n3AicacilpxE d :atseupseR )d odnuge$S )c remirP )b otrauC )a ?atiga es euq ecid es n3Adoc nu ed n3Aicisop 1jAuC¢A .7 .NDA ed sagil y NRA ed saremilop arap PTA ereiuger eS .NDA led
setneidneped samizne nos II y I ANR asaremilop aL :n3AicacilpxE c :atseupseRatseupseR reV I ANR asaremiloP )d asrevni n3AicpircsarT )c NDA ed asagil )b II asaremilop NRA )a ?NRA led etneidneped NDA ed asaremilop ed olpmeje nu se setneiugis sol ed 1jAuC¢A .6 .odaerovlopse y ACC ozarb ed ogepa ,esab ed n3Aicaludom eyulcni ANR-t ed
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al ne etnerefid ragul nu ne selbinopsnart sotnemele ed aipoc aveun anu aerc avitacilper n3Aicanibmocer aL .oitis led acifAcepse n3Aicanibmocer omoc econoc es satnitsid selatnerap saluc©Alom erbos satroc saicneuces satreic ertne n3Aiccurtsnocer aL :n3AicacilpxE c :atseupseRatseupseR reV adagolomoh on n3AicaniboceR )d asogolomoh acit©Aneg
n3AicaniboceR )c n3Aicanibmocer ed avitacilpeR )b oitis led acifAcepse n3AicaniboceR )a ?alacse narg a aicneuces ed aznajemes anugnin atseifinam es on ednod senoiger ne ecudorp es osecorp etneiugis le AnswerAn explanation: By purging adenosine in 23S rRNA, the ricin inactivates the 60S component of eukaryotic ribosomes. 9. How amino amino
acid residues are there in ubiquitin? a) 70 b) 72 c) 74 d) 76 View AnswerAnswer: d Explanation: One of the most highly conserved proteins is known as ubiquitin (76 amino acid residues). The following table contains a complete set of multiple-choice questions and answers on dna replication and repair, dna recombination and synthesis of rna, rna
processing, genetic code, protein synthesis, targeting and degradation. 1. Which of the following are the structural motifs that mediate protein-protein interactions? a) Zinc finger b) Helix-turn-helix ¢) Homeodomain d) Leucine zipper and basic helix-loop-helix View AnswerAnswer: d Explanation: Not only do regulatory proteins have domains for DNA
binding, but they also have domains for protein-protein interactions. DNA-binding domains include the homeodomain, zinc finger, and helix-turn-helix. 2. Which of the following bacterial operon is not controlled by attenuation? a) Histidine b) Leucine c) Arabinose d) Tryptophan View AnswerAnswer: ¢ Explanation: Arabinose is a carbohydrate. 3.
Which of the following regulatory sequence allows transcription to continue? a) Sequence 4 b) Sequence 1 c) Sequence 2 d) Sequence 3 View AnswerAnswer: ¢ Explanation: A tryptophan-sensitive mechanism requires regulatory sequence 1. Sequence 2 is a complementary sequence to sequence 3. Attenuating transcription is the purpose of Sequence
4. 4. Which of the following enzyme is secreted by the pancreas? a) Myoglobin b) Cytochrome c c) Ribonuclease d) Lysozyme View AnswerAnswer: ¢ Explanation: The pancreas secretes ribonuclease into the small intestine, where it catalyses the hydrolysis of specific bonds in ingested ribonucleic acids. 5. Which of the following is a hypertonic
solution? a) 0.45% sodium chloride b) Oceans c) Red blood cells placed in fresh water d) Freshwater habitats View AnswerAnswer: b Explanation: Many marine animals¢AAA extracellular fluid is hypertonic to sea water/oceans. By Evacuating salt water, these marine species escape the challenge of hyper tonicity. 6. Which of the following catalyzes
the PIP2 cut in 2 IP3 and diacilglicerol moles in cell signaling? A) Lipoquinasa B) Fosfoquinasa C) Fosfodiesterasa C D) Fosfolipasa C Vista Answer Attention: D Explanation: The PLC also called phospholipasa grabs PIP2 and cuts it in diacilglicerol and IP3. The following table contains a complete set of multiple-choice questions and answers on
principles of gene regulation, gene expression in prokaryotes and several. If you want to learn thoroughly "biochemistry", you should try to work on the full set of more than 1000 MCQs: multiple-choice questions and answers mentioned above. It will help immensely anyone who tries to decipher a test or interview. Note: We are working on PDF
Download for Biochemistry MCQS and we will publish the download link here. Complete this application form for download of Biochemistry MCQ PDF for download notification. I wish you the best in your effort to learn and master biochemistry! Manish Bhojasia, a technology veteran with more than 20 years @ Cisco & Wipro, is founder and CTO in
Sanfoundry. He lives in Bangalore and focuses on the development of Linux Kernel, SAN Technologies, Advanced C, Data Structures & Alogrithms. Stay connected to him on LinkedIn. Subscribe to your free teachers classes on YouTube and technical discussions on Telegram SanfoundryClasses. SanfoundryClasses.
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